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Chapter 5 White Board Test Review
5.1
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Enrichment and Extension: Using the formula+/a? + b ~ a + 2a Lo approximate the answers to the

nearest thousandth without using a calculator. Then check your answer with the calculator.
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Describe the transformation of f(x) = x* represented by g.

gx) =x*-9 g(x) =1x2+5 g(x) = lx g(x) =x2“%
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Determine if the giver:ymbers could be the lengths of the sides of a right triangle. Q + = C
a=18,b=24,c=30 \/ a=8,b=15c=17 ‘/17

a=9,b=40,c=41
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Solve the equations. Check your solution.

Enrichment and Extensior: Using the graphing calculator to solve radical equati
Round your answer to three decimal places when necessary. (HINT: make the equation = 0 then find the

zeros.)
\/x+2 XX( Ti=5-Vit6 V45 =232x + 6
~ | - I3~ —_ 3 : ¥ e
AN JAH] B RS —Ux+5

,{\ﬁ S -2 =0 (= S-JFf Jxe! . -
X+ = ( ;_,,_ \"/___ L o= 9_3\ Z’('Hf ~nJ Xt~
= [xtas R ; = G-kt —(x+I T

%3‘ \ 4= Raxtlo - YA

+ zoro:(@e) . (20 o, (;%mc)

‘ | — /
‘ N L _ = T o
@ A= 2 ) & = D X7




)

5.5
Slmpllfy
.
3 >
3x(x 1230 x ad 5 (¢ +.b)(a — 6b)

S % N
Ba® T 02 lab tab b
-5 m 2 ]2
iy Y = & _ Salo '(O‘L/j

Perform the given operation or composition. State the domain too.

fx) =3Vax, gx)=-9Vax, x= -2

(F+ et = (t- g)(x)
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Solve the literal equation fory.
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Find the inverse of the function.
© f(x) =4x : f(x)=4x{—1 f(x) =.5x =5 f(x) = (1/5)x -2
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Enrichment and Extension: Find the inverse of the function by completing the square.

f(x) x* + 8x f(x) x> 8x+12 f(x) = x> —4x + 12
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